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QUESTION NO: 1

Two routers are physically connected to each other over Ethernet port 1/1/1.
Review the configuration information shown below. What state should the OSPF neighbor be in?

config: port 17151
o shutdown
[OUTED 1RTEITACE CONDOET
adfiress 10.1.5.1/Z29
ngET 15171
router ospl
arza C.C.0.0
incarfmes MtoNods? ®
kellp-interval 15
dead-interval 40

Node 2
COREIgs porft 17151
0% shutcowvn
router inverface colodel
addre=ss 10.1.5.2/24
poct 17141
e e ActualTests
ares O.0.0.0
inceriace Tuoffcdel”

A.INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Answer: E

QUESTION NO: 2

Which of the following debug statements can be used to troubleshoot if the OSPF adjacency is
staying at xstart state? Select two answers.

A. Debug routerospf rtm

B. Debug routerospf packet dbdescr
C. Debug routerospf neighbor

D. Debug routerospf packet hello

E. Debug routerospf spf

Answer: B,C

QUESTION NO: 3

Based on the following configuration, which of the following statements are true? Choose all that
apply.




Bloeke =1

configrrouter >o=splil
ares O.0.0.0
INCEE s Tro-Nede-2"
mEtEls SO
auckensicacion-kaey "PoGpEAESIFInlpil 1ageisl™ hasha
inceriace "Co-Node-37
BETELT U
arga 9.0.5.1
A
ariginate-dsfaule-couces
interisce *co-Nade-47
meczic 52

Hode-2
configrroucer>aapin
area 0.0.0.0
Introlocs “Lo-Nede=-17
auchenricacion-key ® db7TTiSABPOCHE AemiiaFulisibaliga2” hashd

HNode=3
cont igrroutar>onpll
area 0.0.0.0
interface Tto-Mode-1"
hello-:interval 15

Hode—4

sonfigronters aapdh
aram 0.0.0,1
interface "to-Hods-1"
mecric 50

ActualTests

A. No OPSF adjacency found on Node 1

B. Full OSPF adjacency between Node-1 and Node-2
C. Full OSPF adjacency between Node-1 and Node-3
D. Full OSPF adjacency between Node-1 and Node-4
E. OSPF is enabled on Node 1

Answer: B,E

QUESTION NO: 4

Two routers are physically connected to each other over Ethernet port 1/1/1. Review the
configuration information below. What state should the OSPF neighbor be in?




configs pore LFLS1
erherner
mtg 1514

BTiT
no =husdown

router interface tolods?
mddress 10.1.5, 08724
poEe 1511

gourer cepl
Ares 0,0,0,0

interface "tolodel™
Bty 1500

MHode 2
eanfig: pore LA/
ne shuzdavn
fouMEer interface tolodsl
address 10.1.5.2/24
poEt 1711
EOUEET CAPT
area 0.0.0.0
inserfass Feollsdel® ACtUElTEStS
Bty 1500

A.INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Answer: D

QUESTION NO: 5

Two routers are physically connected running ISIS. ISIS L2 adjacency is up and running but L1
adjacency is not up. Review the configuration information shown below: Which of the following
statement best describe the cause of the problem? Select one answer only.




